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Exercise

1. State which of the following statements is

true:

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_lpVuSIIOAEib


A. a)

B. b)

C. c)

D. d)

Answer:

Watch Video Solution

{a} ∈ {a, b, c}

a ∉ {a, b, c}

a ⊂ {a, b, c}

{a} ⊂ {a, b, c}

2. The A.M of two numbers is 10,if one number

is 7,then the other number will be __

https://dl.doubtnut.com/l/_lpVuSIIOAEib
https://dl.doubtnut.com/l/_F46l5rsqwail


A. a)15

B. b)14

C. c)13

D. d)11

Answer:

Watch Video Solution

3. The vlaue of is

A. a)1/32

lim
x→16

x1 / 4 − 161 / 4

x − 16

https://dl.doubtnut.com/l/_F46l5rsqwail
https://dl.doubtnut.com/l/_YmapwlvmG1Uj


B. b)1/16

C. c)1/8

D. d)1/4

Answer:

Watch Video Solution

4. Find the median of the following numbers

:8,15,53,49,19,62,7,15,95,77

A. a)33

https://dl.doubtnut.com/l/_YmapwlvmG1Uj
https://dl.doubtnut.com/l/_GILohYHZaVrZ


B. b)34

C. c)35

D. d)36

Answer:

Watch Video Solution

5. For two mutually exclusive events A and

B,P(A)=1/2and ,then the value

of P(B) will be

P (A ∪ B) =
2

3

https://dl.doubtnut.com/l/_GILohYHZaVrZ
https://dl.doubtnut.com/l/_wU8knJlO6bb4


A. a)

B. b)

C. c)

D. d)

Answer:

Watch Video Solution

1/4

1/6

1/3

1/5

6. If ,then what is the value ofsin θ + sinϕ = 2

cos(θ + ϕ) ?

https://dl.doubtnut.com/l/_wU8knJlO6bb4
https://dl.doubtnut.com/l/_UzrsSuddSRzT


A. a)0

B. b)1

C. c)-1

D. d)2

Answer:

Watch Video Solution

7. The roots of the equation 

are equal state which of the following is the

value of p?

3x2 − 5x + p = 0

https://dl.doubtnut.com/l/_UzrsSuddSRzT
https://dl.doubtnut.com/l/_iAWOqfMOwDOJ


A. a)25/6

B. b)25/12

C. c)-25/6

D. d)-25/12

Answer:

Watch Video Solution

8. Determine x so that 2 is the slope of the line

passing through P(2, 5) and Q(x, 3).

https://dl.doubtnut.com/l/_iAWOqfMOwDOJ
https://dl.doubtnut.com/l/_zpI3A0dAee1e


A. a)25/6

B. b)3

C. c)5

D. d)1

Answer:

Watch Video Solution

9. Equation of the circle concentric to the

circle and through

the origin is

x2 + y2 + 4x − 2y = 20

https://dl.doubtnut.com/l/_zpI3A0dAee1e
https://dl.doubtnut.com/l/_pGtq0X0SBHyZ


A. a)

B. b)

C. c)

D. d)

Answer:

Watch Video Solution

x2 + y2 + 4x − 2y + 20 = 0

x2 + y2 + 4x − 2y − 20 = 0

x2 + y2 − 2y + 4x − 2y + 20 = 0

x2 + y2 + 4x − 2y = 0

10. Find the middle term of the expansion

.(1 − )
8

1

x

https://dl.doubtnut.com/l/_pGtq0X0SBHyZ
https://dl.doubtnut.com/l/_4VjZFQ1CSypH


Watch Video Solution

11. Find the power set of A={a,b,c}.

Watch Video Solution

12. A relation R is defind on the set A={2,3,4,5}

as follows :  are

relatively prime,Find domain and range of R.

Watch Video Solution

(x, y) ∈ R ⇒ x and y

https://dl.doubtnut.com/l/_4VjZFQ1CSypH
https://dl.doubtnut.com/l/_PiYmNkz3TKxR
https://dl.doubtnut.com/l/_h1e2RQwnsiNW
https://dl.doubtnut.com/l/_ho9ecwaPZ5sX


13. In ,a=2,b=3 and sin A=2/3.Find 

Watch Video Solution

△ ABC ⌊B

14. Prove that ,

Watch Video Solution

= tanx
sin 2x

1 + cos 2x

15. Express in the form A+iB,(A,B are real),

Watch Video Solution

+
i

1 + i

1 + i

i

https://dl.doubtnut.com/l/_ho9ecwaPZ5sX
https://dl.doubtnut.com/l/_0Tv4hAZW9aU7
https://dl.doubtnut.com/l/_xAm2Cw2aMXSl


16. If nC_3=11:1`find n.

Watch Video Solution

(2n)C3 :

17. The n term of an A.P is 7n-5,find the sum of

first 20 terms of the series.

Watch Video Solution

18. Find the 4the term from the end in the

expansion of ( − )
9

x3

2

2

x2

https://dl.doubtnut.com/l/_dYWFy90R9rSh
https://dl.doubtnut.com/l/_C7UoNbBTstzX
https://dl.doubtnut.com/l/_BFFcaoYBJCTq


Watch Video Solution

19. Find the equation of the perpendicular

bisect or of the line joining the points (2,3)and

(6,-5).

Watch Video Solution

20. Find the ratio in which the line segment

joining A(2,4,5) and B(3,5,4) deivided by the yz

plane.

https://dl.doubtnut.com/l/_BFFcaoYBJCTq
https://dl.doubtnut.com/l/_GBD6WXwO3Z6a
https://dl.doubtnut.com/l/_uiRT6Lnqhike


Watch Video Solution

21. Evaluate : -1

Watch Video Solution

lim
h→0

ehh

h

22. If f(x)=x|x|,prove that f'(x)=2|x|.

Watch Video Solution

https://dl.doubtnut.com/l/_uiRT6Lnqhike
https://dl.doubtnut.com/l/_glIjYqSl719M
https://dl.doubtnut.com/l/_5LXmODECaneA


23. In a lottery there are 10 prizes and 25

blanks.Find the probability of getting prize.

Watch Video Solution

24. Find mean and variance for the following

data 5,9,8,12,6,10,6,8.

Watch Video Solution

https://dl.doubtnut.com/l/_lY8Iwns4PTeD
https://dl.doubtnut.com/l/_pWLr9e6fgKqH


25. For any three sets A, B, C. show that

Watch Video Solution

A × (B − C) = (A × B) − (A × C)

26. In any ,prove that 

Watch Video Solution

△ ABC

=
sin(B − C)

sin(B + C)

b2 − c2

a2

27. Prove that, = tan( + )
cos x

1 − sinx

π

4

x

2

https://dl.doubtnut.com/l/_moIMMCNr3tqw
https://dl.doubtnut.com/l/_KmMcj2Z7KYL1
https://dl.doubtnut.com/l/_9DpR9WH3KksB


Watch Video Solution

28. Prove by mathematical induction that

=

Watch Video Solution

+ + + ... +
1

1.3

1

3.5

1

5.7

1

(2n − 1)(2n + 1)

, (n ∈ N)
n

2n + 1

29. If ,show that 

Watch Video Solution

x + iy =
2

3 + cos θ + i sin θ

2x2 + 2y2 = 3x − 1

https://dl.doubtnut.com/l/_9DpR9WH3KksB
https://dl.doubtnut.com/l/_reG2M4UERGm0
https://dl.doubtnut.com/l/_HTzXPivXAGRD


30. find the co-efficient of (2r+4)th and (r-2)th

terms in the expansion of . If the co-

efficients are equal find r.

Watch Video Solution

(1 + x)18

31. If p, q, r are in G.P and the equation

 and 

have a common root, then show that d/p, e/q,

f/r are in AP.

Watch Video Solution

px2 + 2qx + r = 0 dx2 + 2ex + f = 0

https://dl.doubtnut.com/l/_HTzXPivXAGRD
https://dl.doubtnut.com/l/_VF0DGWrPPDTk
https://dl.doubtnut.com/l/_xaRiGgl6xdzA


32. Show that the points (a,0),(0,b)and

(3a,-2b)are collinear.Also find the equation of

the line containing them.

Watch Video Solution

33. Find the distance between the parallel

lines 4x-3y+5=0 and 4x-3y+7=0.

Watch Video Solution

https://dl.doubtnut.com/l/_xaRiGgl6xdzA
https://dl.doubtnut.com/l/_MqSrF4DxE6DY
https://dl.doubtnut.com/l/_hvzTcSpChvvg


34. Find the equation of a circle through

origin which cuts of intercepts -2 and 3 units

from the x-axis and Y-axis respectively.

Watch Video Solution

35. Find the value of the limit

Watch Video Solution

lim
n→ ∞

12 + 22 + ... + n2

n3

https://dl.doubtnut.com/l/_8u0fEuYvVkCB
https://dl.doubtnut.com/l/_1B0bUW1d2C4T


36. If ,prove that 

Watch Video Solution

y = √
1 − x

1 + x

(1 − x2) + y = 0
dy

dx

37. If is an odd number then x is also odd

number,justify the validity of the statement.

Watch Video Solution

x2

https://dl.doubtnut.com/l/_dOt99CqRQ0cH
https://dl.doubtnut.com/l/_tehsvmdHLkCU


38. If x and y are odd integers, then xy is also

an odd integer r examine its truth value.

Watch Video Solution

39. In single throw of two dice,the probality of

obtaning 'a total of 8' is___

Watch Video Solution

https://dl.doubtnut.com/l/_diwfzsvcX0vH
https://dl.doubtnut.com/l/_O4E0qp1dgP8h


40. Find S.D from the following data:

Watch Video Solution

41. Solve :

Watch Video Solution

√3cos x − sinx = 1

https://dl.doubtnut.com/l/_CxW9ZWXMHa8r
https://dl.doubtnut.com/l/_aCo240QsXkXD


42. Prove that,

Watch Video Solution

cos 20∘ cos 40∘ cos 60∘ cos 80∘ =
1

16

43. Exhibit graphically the solution sets of the

following system of linear inequations.

, , ,

Watch Video Solution

x − 2y ≤ 33x + 4y ≥ 12x ≥ 0 y ≥ 0

https://dl.doubtnut.com/l/_8UHXWZxodSKM
https://dl.doubtnut.com/l/_eDM4odClPEXy


44. Solve :

Watch Video Solution

3x2 + 8ix + 3 = 0

45. Find the sum of n terms of the series

…to n terms.

Watch Video Solution

+ +
1

2.5

1

5.8

1

8.11

46. There are 10 points in a plane of which 4

are collinear, Find the number of lines

https://dl.doubtnut.com/l/_oKKObhvFObdl
https://dl.doubtnut.com/l/_yezFxTFvL52b
https://dl.doubtnut.com/l/_Klyssp6fupJl


obtained from the pairs of these points.

Watch Video Solution

47. There are 10 points in a plane of which 4

are collinear, find the number of triangles that

can be formed from these points.

Watch Video Solution

48. The directrix of a parabola is x+y+4=0and

vertex is at (-1,-1).Find the position of the focus

https://dl.doubtnut.com/l/_Klyssp6fupJl
https://dl.doubtnut.com/l/_ydGv04NP4UxL
https://dl.doubtnut.com/l/_snpfyTbNH4sG


and the equation of parabola.

Watch Video Solution

49. Find the equation of the ellipse whose

centre lies at the origin,major axis lines on the

x-axis,eccentricity is and length of the

latus rectum is 5 units.

Watch Video Solution

2/3

https://dl.doubtnut.com/l/_snpfyTbNH4sG
https://dl.doubtnut.com/l/_F31zz6aAxwr9


50. In each of the find the equations of the

hyperbola satisfying the given conditions. 

Vertices , foci 

Watch Video Solution

(0, ± 3) (0, ± 5)

https://dl.doubtnut.com/l/_vUswCj0i0dOA

